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QUESTION 1

In order to realize the failover support provided by the application of the Redundant Implementation pattern, the
Intermediate Routing pattern also needs to be applied so that services can be load balanced.

A. True
B. False

Correct Answer: B

QUESTION 2

Technical service contracts that use the same XML schemas will support the exchange of messages based on the
same data models.

A. True
B. False

Correct Answer: A

QUESTION 3

The Messaging Metadata pattern requires a messaging framework that supports the processing of messages with
headers or properties.

A. True
B. False

Correct Answer: A

QUESTION 4
Which of the following statements is true?

A. The Enterprise Service Bus pattern is primarily concerned with message processing logic, while the Orchestration
pattern is primarily concerned with service composition logic.

B. The Enterprise Service Bus pattern is primarily concerned with synchronous messaging logic, while the Orchestration
pattern is primarily concerned with asynchronous messaging logic.

C. The Enterprise Service Bus pattern is primarily concerned with service composition logic, while the Orchestration
pattern is primarily concerned with message processing logic.

D. None of these statements are true.

Correct Answer: A
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QUESTION 5

When applying the Schema Centralization pattern, multiple services can form dependencies on the same centralized
schema.

A. True
B. False

Correct Answer: A
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